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	1.
	Calculate the volume of each prism below (lengths are in cm).

	
	
	
	
	
	
	

	
	a)
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	2.
	Calculate the volume of each solid below to 3 s.f. (lengths are in cm).

	
	

	
	a)
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	3.
	A cylinder has a radius of 5cm and a volume of 942.5cm3.

	
	
	
	
	
	
	
	
	

	
	Find the height of the cylinder.
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	4.
	A drug capsule is manufactured in the shape of a cylinder with a hemisphere at each end.
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	The cylinder has a diameter of 9mm.
	

	
	
	

	
	The capsule has an overall length of 19mm.
	

	
	
	

	
	Calculate the volume of the capsule (to the nearest mm3).
	

	
	
	

	5.
	[image: Toblerone]
	A Toblerone box is a triangular prism 30cm long, with 6cm equilateral triangles for faces. 

	
	
	

	
	
	Find the volume of a Toblerone box (to 3 s.f.)

	
	
	

	
	
	(HINT: Use Pythagoras to find the height of the face).

	
	
	

	
	
	

	6.
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	A chemistry student uses a rubber stopper to seal a chemical reaction inside a glass flask.

	
	
	
	

	
	
	
	The stopper is in the shape of a truncated cone, which is a cone with a smaller conical section removed.

	
	
	
	

	
	
	
	The original cone has a diameter of 10cm and a height of 12cm. 

	
	
	
	

	
	The stopper is 4cm wide at the top and has a height of 7cm.

	
	

	
	Find the volume of rubber needed to make the stopper (rounded to 3 s.f.).





	Q.
	Award 1 Mark for each ●

	
	

	1.
	a)
	● V = Ah (*)
● 45cm3
	b)
	● 253cm3
	c)
	● evidence of finding compound area
● face = 56cm2
● 392


3.6
cm3

	
	(*): formula should appear once in a, b or c.

	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	2.
	a)
	● V =  x 32 x 12
● 339.2920066…
● 339 cm3
	b)
	● V = ( x 62 x 8)/3
● 301.5928947…
● 302 cm3
	c)
	● V = 4( x 43)/3
● 268.0825731…
● 268 cm3 

	
	
	
	
	
	
	
	
	

	3.
	● 942.5 =  x 52 x h
● h = 942.5/25
● h = 12 cm
	

	
	
	

	4.
	● VC =  x 4.52 x 10
● VC = 636.1725124….
	● VH = ½ of 4( x 4.53)/3
● VH = 190.8517537….
	● Total = VC + 2VH
● 1017.870602….
● 1018 mm3

	
	
	

	5.
	● h2 = 62 - 32
● h = 27
● h = 5.196152423….
● A = ½ (6)( 5.196152423….)
● A = 15.58845722…. cm3
● V = 15.58845722…. x 30 = 467.653718… cm3
● V = 468 cm3
	

	
	
	

	6.
	● VL = ( x 52 x 12)/3
● VL = 314.1592654…. cm3
● Vs = ( x 22 x 5)/3
● Vs = 20.94395102… cm3
● Stopper = 314.1592654…. - 20.94395102… = 293.2153144….
● Stopper = 293 cm3

	
	
	

	
	Total = 38 marks
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